Gruppe A:

utu~ (Myons) ete™ (Electrons)

Fun:event 7810: 54683 Ctrk{N= 3 Sump=186.4) Ecal(N- § SmE= 1.9}/ Fun:event 7675: 13813 Ctrk{N= 2 Surp=140.8) Ecal(N= 15 SumE=175.3
Ebean 85.137 ¥ix {=0.08, 0.06, 0.40) Ecel(N= 4 Sunk= 3.7} Muon(N= 2) l Ebeom 86.148 Vix {-0.08, 0.0, 0.48) Heel(N= 0 BuaB= 0.0) Muen(N= 0} Ji
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+5,
+5
i
\V _ _
oy T T
¥ p 4
z L z i—B ¥ ~ ~
0, au 12 4 mey n, an, 12 SR
Certre of eremis € Q.00 G000, 000D —— T Ctre of sremis € 0000 19087, 0000 F—— ™
+_— _
T+t~ (Tauons) qq (Hadron — Jets)

Fun:event 7502: 36348 Ctrk{N= 2 Sump= 38.2) Ecal(N= B SuxE= 75.8)] /
Ehesm 06,182 ¥ix {-0,09, 0.96, 0.35) Heal{N= 4 FusE= 10.9) Muonin= 2} |(

Run:egcﬁi. 7575: 15100 Ctrk{N= 24 Sump=111.0) Ecal(N= 32 SumE= 951"
Ebesn 88, 148 ¥ix {-0.08, 0.08, 1.13) Hoel(N=18 Sunk= 39.1) MucniN= 0} ||

R
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ete™ (Electrons)
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Tun:event 5203: {2058  Cirk{N= 26 Sump= 3.9} Ecal(N= 36 SuuB= 40.
Ebean 45,801 ViX { —.0%, .04 63) Hoal(N=18 Surk= 25.3) Muen(N= 8

Run:event 5208: 17038  Ctrk(N= 50 Suwmp= 52.6) Ecal(N= 23 Sumk= 55.8 h
Ebeam 45.801 Vtx { .0C, .04, .24) Hoel(N=18 Bwf= 13.7} MuoniN= 0} [U ll
gl

N
03

#

125 Wi 10 8By

A a0, m,
DatrecFasmemis {0000 L9, 0003 — S A AR Gitrecaremis ¢ 000 B, 000 P =™

Fun:event 5203: 10331 Ctrk{N= 2 Sump= B5.7) Ecal{N- © SumE= 2.0
Ebeem 45.800 Vtx { —.68, .04, .68) Heal(N= 4 Swad= 3.4) Muon(N= 2

Fun:event 5203: 10870 Ctrk{N= & Sygp= 3%.2) Fcal(N= 15 SumB= B
Ebean 45.800 Vix { —.08, .04, .88) Heal(N=12 Suci= 26.9) Muon(N=

. o 12 BB . m 12 GEE
Gatreck svemis (00 LW, 0000 — mm Cetrecfsremis {000, 07, 000 — ™

Runievent 5203734832 Ctrk{N= 33 Sum= 45.7) Feal(N= 45 Suis 53.4
Ebeam 45.800 Vix { —.01, .02, .98) Heal(N= 0 SuaB=  .0) Huon(N:

Run:event 520330948  Ctrk(N= 16 Sump= 40.1) Ecal(N= 28 Swif:
Ebeam 45,800 Vizx { .03, .06, .65) Hoal(N= 4 SumE= B.G) Muon(N=-

+

1, o 12 Rz - ’ . 0, o 12 15 G
— T T 00T, 13, 00 — il

Fun:event 5303: 928  Ctrk(N= 40 Swp= 84.0} Ecal(N= 45 Sume= 54,0 AN | | Ron:event 5203: 57932
Fbean 45.600 Vtx (=0.01, 0.06, 1.52) Hoal(N-16 Smi= 10.7) Muon(y= o} [[{{] pll Ebean 45.588 Vix [ -.03,
Y
Sl

0o 12w 0. o
(rireof srem s (0000, B2, 0f1ic) — AR A A Grtre f syemiis €000, 3, () 1 lmm
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Fun:event 5207: 27128 Ctrk(N= 12 Sump= 3.4} Ecal(N= 38 SumE= 72

Run:event 5305: 20384 Ctrk{N= 35 Sump= 88.4) Ecal(N= 41 Surf= 44.2 1 = = 35. = = l‘l
Ebeem 45.571 Vix {—0.08. 0.08, 6.16) Hcel(N=156 BumE= $.9) Huon(N= 1} l' WO = = . = Hl
1 il 1

i #

Ebean 46,808 Vtx { —.06, .07, .2¢) Heal(N= 7 fumi= §.3) Muon(N= 0}

0, o 12 2B 12 086

Gatrecf sremis € 0000 193, 0000 f—— ™ Getrecf smemis ¢ 0000 198, .00 }—{ naisam]

Run:event 5207: 27254  Cirk(N= 15 Sump= 53.1) Ecal(N= 30 SocE= 37.8
Ebeam £5.803 ¥ix { —.01, .04, .93) Heel(N=10 SumE= 40.8) Muon(N= 2} |||

Fun:event 5207: 20425 Ctrk(N= 24 Sump= 85.4) Ecal(N= 21 SomE= 55.2
Ebeem 45.608 Vix { .05, .05, 1.26) Heal(N=13 Sunk= 26.1) MuoniN= 0} |

12 EE0 12 BEEY

Gatrecfsremis{ 000 BV, (G l—{ i Catreck syemnis () B, (0 l—{ o

Bun:event 5207: 81184  Ctrk(N= 25 Sump= 78.8) Eeal(N= 30 SuB= 47.8
Ebesm 45,804 Vix { —.02, .04, 1.68) Heel(N=14 SwE= 8.7) Muan(N= 0} |{

I Fun:event 5207: 31522  Ctrk(N= 22 Sump= 64.6) Ecal(N= 27 Suzk= 57.7)
ﬁ Ebean £5.804 Vix { -0+, .04, 1.17) Heel(N= & Sumk= 13.0) Muon(N= 1}

12 200 12 s

Datrecsemiis {0000 19, 000 }—{ mo Gatreof yemis (000 BT, 000 }—{ T

Pun:event 5207: 88041  Cirk{N= 25 Sump= 45.9) Ecal(N= 38 Swf= 63.3
Bhewn 45.804 Vix { —.01, .08, 1.20) Heal(N=21 SwsE= 14.0) Muon(N= 0}

Funievent 5203: 5418  Girk(Ne 2 Sump= 93.7) Ecal(N- 6 Sw= 1.8
Ebean 45.800 Yix { —.08, .04, .68) Heel(N= & SusB= 7.3} Muon(N= 2} l‘

12 2o 12 800

etrecksremis (00 BT, () }—{ Mo Catre of sremis ¢ 0T 195, (Gt }—{ M1 T
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Gruppe B:

utu~ (Myons) ete™ (Electrons)

Fun:event 7810: 54683 Ctrk{N= 3 Sump=186.4) Ecal(N- § SmE= 1.9}/ Fun:event 7675: 13813 Ctrk{N= 2 Surp=140.8) Ecal(N= 15 SumE=175.3
Ebean 85.137 ¥ix {=0.08, 0.06, 0.40) Ecel(N= 4 Sunk= 3.7} Muon(N= 2) l Ebeom 86.148 Vix {-0.08, 0.0, 0.48) Heel(N= 0 BuaB= 0.0) Muen(N= 0} Ji
"""" B ﬂ"__br
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+_— _
T+t~ (Tauons) qq (Hadron — Jets)

Fun:event 7502: 36348 Ctrk{N= 2 Sump= 38.2) Ecal(N= B SuxE= 75.8)] /
Ehesm 06,182 ¥ix {-0,09, 0.96, 0.35) Heal{N= 4 FusE= 10.9) Muonin= 2} |(

Run:egcﬁi. 7575: 15100 Ctrk{N= 24 Sump=111.0) Ecal(N= 32 SumE= 951"
Ebesn 88, 148 ¥ix {-0.08, 0.08, 1.13) Hoel(N=18 Sunk= 39.1) MucniN= 0} ||

R
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4 http://www.physicsmasterclasses.org




Bun:event 5203: 14684  Otrk(N= 2 Sump= B9.4) Ecal(N= 3 SumB= 91.2
Ebesm 45.801 Viz {—0.03, 0.¢4, 0.88) Heal(N= 3 SumE= 1.8) Muon(N= 0}

Fun:event 5287: 8337  CGirk(N= 21 Sump= 85.1) Eeal(N= 43 Sui= 47 5@ 0y
Bbeau 45,601 Vix { —.09, .20, 1.24) Keal(N=14 swi= 32.6) wwon(= 1) J(O l‘
‘ﬂ'

E 12 0D 0. m 12 sme
Gstref syemis (00 195, 0000 — ™ Gatre o svomis {00000, 195, 0000  — S ARA R

Run:event 5209: 45630  Otrk(N= 22 Sump= 55.4) Ecal(N= 34 Sumf= 51.7
Ebedn 45.671 Vix {-0.02, 0.¢6, 2.13) Hoal(N=14 SunE= 21.0) Muon(N= 1}

Fun:event 5207: 38821 Ctrk{N= 21 Surp= BC.8) Ecal(N= 34 SumE= 76.8
Ebeem 45.804 Vix ( —.02, .06, 1.29) Heel(N=13 Swni= 8.8) Muon(N= 0}

o 17 0DEY 0. o 12 BB
Ostrecf arenis (000 BFF, 00 — '™ Gt of sremis 00000, I8, 006000 1
Bun:event 5207: 30583 Ctrk{N= 32 Sum= 86.1) Eeal(N= 42 Suxk= 30,7} A7 0D
Ebesm 45.804 Vix { -.15, —.2%, 1.99) Hcel(N=10 SurE= 3.8} Hucn(N= 0} O ﬁl‘ Fun:event 5207: 41748 Ctrk(N= 32 Sump= 44.3) Ecal(N= 28 SumE= 56.0,
Gl | Bbean 45.604 vix { —.05. .66, .08) Heel(WhizBum= ¥.5) Muon(¥= 0} [[C) l'
.U

N

12 0964

12 BWE an.an
0, BT, 000 e T

an,
oredaemid 0 B, 000 b ™ Catrecf aromis{

Fun:event 5207: 42181 Ctrk(N= 22 Surp= 58.2) Ecal(N= 35 SumE= 39.8
Ebeem £5.804 ¥ix { .03, .02, 1.47) Hoal(N=18 Bunb= 23.4) Muon(N= 1}

Fun:event 5203: 5289 Ctrk{N= 2 Sump= 26.9) Ecal(N= 5 Sumk= 24.1
Ebesm 45,800 Yix { —.03, .04, .68) Heal(N= 2 Pwk= 1.1) Muon(N= 1} [ |
S

0, o, 12 596 n, an
Catre o srenis (00 193,003 — AR A R ] Gvedaenis( MW 8AF, o 1 [Tim
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Run:event 5208: 5847  Ctrk(N= 2 Sump= 95.8) Ecal(N= 4 SucE= 1.9

Runsevent 5207: 45071  Ctrk{N= 38 Sump= 55.0) Ecal(N= 50 Suwb= 54.1 d
Ebeam £5.600 Yix { —.08, .04, .68) Heal{N= 6 Sunk= 5.7) Muon(N= 2)

Ebeam 45.804 Vtx (.62, .04, .85) Hoel(N=18 Bung= 12.3) Muen(N= 0} [l Fl‘
Sidy

T+
12 omE 12 1D

Catre o svemnis (00 B, 000D }—| mm CGtecFaremin¢ 000 BN, 00 [ R b e

Fun:event 5267: 40147  Ctrk(N= 20 Surp= 52.8) Ecal(N= 32 Sumk= 4.9 y | | Funievent 5207: 46685 Curk{N= 20 Sum= 55.7) Ecal (N= 25 Smki= 48. D)l

Ehoan £5.80% Ytx { —.01, .04, .04) Hoel(N=18 Bucfi= 20.7) Muen(N= 2} Ebean 45.804 Vix { -.08, .04, .08) Heal(N=18 SuxE= 26.3) Muonin= 0} ||

19 GO 12 DDE
Crtre o swemis{ 000, 1955, 000 }—| M Crtreo syemis (00 B, 00 }—{ T
Fun:cvent 5207: 47424  Cirk{N= 28 Sump= 46.8) Ecal(N= 36 SumB= 81.2} /& Bunievent 5207: 4783  Ctrk(N= 82 Swp= 52.9) Ecal(N- 48 Sumf= 62.5)
Bbean 45.804 Vix { —.0¢, .02, .71) Heal(N= B Fui= 3.0 Huen(N= 0 Ebesm 45801 ¥tx { —.01, .06, 1.41) Hoal(N=15 Bus= 10.1) Musn(N= 0}

12 B@

12 5 Wi
Gotre f avemis € (00, B, (0 }—{ B Ostre of sremis (000 1520, 000 |—¢ T

Run:event 5207: 48038  Ctrk{N= 87 Sump= 41.8) Ecal(N= 88 Sumi= 47.0

Run:event 5207: 50523 Ctrk({N= 22 Sump= 47.9) Ecal{N= 52 SumE= 5:;.5)| z
Bheam 45.804 Vix { —.01, .06, 1.38) Heal(N=19 Suub= 14.9) Muon(N= 1)

Ehedn 45.804 ¥ix { —.04, .04, -.03) Hoel(N=24 SunE= 24.8) Muan(N= 3}

17 5D 12 2me

Catrcf syemis (000, 920, 00000 }—{ Mmoo Getrecforemis( 000 B2, 000 4‘ mom
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Gruppe C:

utu~ (Myons) ete™ (Electrons)

Fun:event 7810: 54683 Ctrk{N= 3 Sump=186.4) Ecal(N- § SmE= 1.9}/ Fun:event 7675: 13813 Ctrk{N= 2 Surp=140.8) Ecal(N= 15 SumE=175.3
Ebean 85.137 ¥ix {=0.08, 0.06, 0.40) Ecel(N= 4 Sunk= 3.7} Muon(N= 2) l Ebeom 86.148 Vix {-0.08, 0.0, 0.48) Heel(N= 0 BuaB= 0.0) Muen(N= 0} Ji
"""" B ﬂ"__br
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Certre of eremis € Q.00 G000, 000D —— T Ctre of sremis € 0000 19087, 0000 F—— ™
+_— _
T+t~ (Tauons) qq (Hadron — Jets)

Fun:event 7502: 36348 Ctrk{N= 2 Sump= 38.2) Ecal(N= B SuxE= 75.8)] /
Ehesm 06,182 ¥ix {-0,09, 0.96, 0.35) Heal{N= 4 FusE= 10.9) Muonin= 2} |(

Run:egcﬁi. 7575: 15100 Ctrk{N= 24 Sump=111.0) Ecal(N= 32 SumE= 951"
Ebesn 88, 148 ¥ix {-0.08, 0.08, 1.13) Hoel(N=18 Sunk= 39.1) MucniN= 0} ||
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Fun:event 520%: 50YB0  Ctrk{N= 21 Sump= 54.9) Ecal(N- 35 Sum= 62.8)] #[(

Eun:event 5207: 51031  Ctrk(N= 30 Sump= 59.0) Ecal(N= 44 SuwB= 72.0 h
Ebesn £5.804 Vtx { —.01, .06, —.08) Heal(N=19 Bwsi= 10.9) Muon(N= 1} JI

Bheam 45.804 Vix { —.01, .04, 1.41) Heal(N= 8 SusB= 3.3) Muen(n= 0} |Il

12 DI 17 BTE
GtrecPvmnis (00D BEN, 00 LSS Crec it M0 BE, 00 }—( mm

Run:event 5207: 51433  Ctrk{N= 23 Sump= 63.1) Ecal(N= 35 Smof= 42.7)

Run:event 5203: 8128 Ctrk{N= 2 Sump= BB.0) Ecal(N= 5 Sumk= 1.8,
Ebedm 45.804 Vix { —.02, .04, —.81) Heal(N=15 SweE= 13.1) Muen(n= 2} |U

Bheam 45.800 ¥ix { —.03, .04, .68) Heal(N= & SwoE= 5.1) Muen(n= 2} |{

-
12 2@ 12 B0

(abecf avemis ¢ (00 187, 0000 }—| m o Cotrecfaremis { (00 193W, 00 }—| m T

Bun:event 5287: 5175  Ctrk{N= 47 Swmp= 55.1) Ecal(N= 37 Soxk= 54.5
Ebeem 45.801 Vtx { —.05, .04, 1.11) Heal(Nsl1 Funi= 7.5) Muon(N= 0}

Fun:event 5203: 4387  Ctrk{N= 4 Swmp= 33.0) Ecal(N= 12 SocE= 7.
Ebeen 45800 ¥tz { —.01. .06, —.25) Hesl(N= 7 Suni= 7.8) Muon(N= 1

12 EDE 120 DR

Grrecfaremis ¢ (M BEY, 00 }—{ Mmoo Cotrecfsyemis (000 W, 00 —tmm

Fun:event 5207: 51835  Ctrk(N= 29 Sump= 83.5) Ecal(N= 37 Sm= 39.4
Ebean 45804 Vtx { .00, .03, .15) Heal(N= ¥ SusB= 13.8) Muon(N= 3} || ﬁ
I

Run:event 5207: 52283 Ctrk{N= 19 Sump=103.7) Ecal(N= 22 SmmE= 52.1) £
Ebesn 46.804 Vix { —.02, .06, 1.33) Heal(N=10 FuxE= 7.0) MueniN= 1} |{

p .
b

12 200 12 2 me

Crtrecfagemis € (00 92, 00 }—{ Mmoo Gtreof sgemis € 00, B, 00 4{ mom
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Run:event 5305: 14015  Ctek(N= 15 Sup= 38.7} Eeal(N= 29 Sumk= 56.2
Ebean 45.506 Yx (-0.02, 0.02, ¢.76) Heal(N=10 SmE= 11.7} Muon{N= 1}

T, Run:event 5297: 53384 Ctrk{N= 21 Surp=101.1) Ecal{N= 26 SumE= 22.
LPI‘ Ehewn 45.804 ¥ix { —.04¢, .04, 1.98) Heol(N=18 SumE= 23.9) Muon(N=
‘B’

0.m, 12 DG a0, o, 17 B
e cfazenis {0000, 1955, 0000 — i R Cotre of syemis (0, 18, 000 —

Run:event 5207: 53620
Ebean 45.804 Vix

= Fun:event 5203: 14643 Ctrk{N= 2 Sump= 91.6) Ecal(N= 7 Somk= s:.z)l Ak
|

Urk{N= 40 Sump= 14.9) EcaT{Nz 41 SumE= 59.1
11, .08, .80) Heel(N=13 SumE= ) Ebeam 43.801 Vix {-0.03, 0.04, 0.668) Heel{N= 2 SunE= 1.4} Mucn(N= 0}

Sl 17

12 12 oW

20, o 0, o,
[ — e R Catro of semis {0000, 1, 0.0 B &m

Run:event 5207: 54323 Ctrk{N= 27 Sump= 72.6) Ecal(N- 31 Sumf= 35.

Ebean 45.805 Vix { —.04, .08, .24) Heal(N=14 SuE= 18.2) Muon(N= 1

Run:event 5297: 54135  Cirk{N= 84 Sump= 70.4) Ecal(N= 42 Swrk= 51.8
Ebesm 45.604 Vix { —.04, .00, 1.50) Hesl{N=12 SumE= 11.8) Muon(N= &)

an, an 12 200 a0 an 12 S
Ltreof svemn s (0000, T, 0009 — A AR rechsvemis (00 1, 00 ™

Run:event 5207: 54585 Ctrk{N= 37 Sump= 69.0) Ecal(N= 38 SumE= 40.5

Runievent 5207: 65780  Otrk{N= 50 Sump= 68.1) Ecal(N= 38 SumB= 45.8
Ebeam £5.805 Vtx { .00, .06, .97) Heal(N=16 BuwsB= 11.4) MuoniN= 1)

Ehean £5.805 Vix { —.02, .04, .67) Heel(N= 9 Sumk= ¢.8) Muonin= +) |{

A0, + TZ )0 0, 12 a5
Gaecfarmnis( 40 B, 00 P—— ™ Gotred aremis 0 1825, 00 — R ]
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Gruppe D:

utu~ (Myons) ete™ (Electrons)

Fun:event 7810: 54683 Ctrk{N= 3 Sump=186.4) Ecal(N- § SmE= 1.9}/ Fun:event 7675: 13813 Ctrk{N= 2 Surp=140.8) Ecal(N= 15 SumE=175.3
Ebean 85.137 ¥ix {=0.08, 0.06, 0.40) Ecel(N= 4 Sunk= 3.7} Muon(N= 2) l Ebeom 86.148 Vix {-0.08, 0.0, 0.48) Heel(N= 0 BuaB= 0.0) Muen(N= 0} Ji
"""" B ﬂ"__br
+5,
+5
i
\V _ _
oy T T
¥ p 4
z L z i—B ¥ ~ ~
0, au 12 4 mey n, an, 12 SR
Certre of eremis € Q.00 G000, 000D —— T Ctre of sremis € 0000 19087, 0000 F—— ™
+_— _
T+t~ (Tauons) qq (Hadron — Jets)

Fun:event 7502: 36348 Ctrk{N= 2 Sump= 38.2) Ecal(N= B SuxE= 75.8)] /
Ehesm 06,182 ¥ix {-0,09, 0.96, 0.35) Heal{N= 4 FusE= 10.9) Muonin= 2} |(

Run:egcﬁi. 7575: 15100 Ctrk{N= 24 Sump=111.0) Ecal(N= 32 SumE= 951"
Ebesn 88, 148 ¥ix {-0.08, 0.08, 1.13) Hoel(N=18 Sunk= 39.1) MucniN= 0} ||

R
; i—&» i Nz i—ﬁ ¥ e e
T 128 D - 0, m, 12 0 EDE
GrtrecFaremis (000 75, o 1 [T Catre o Svemis € 0000 12055, 000 —
Decay Marks Total

wru~ (Myons)

ete™ (Electrons)

trt~ (Tauons)

qq (Hadron — Jets)
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Fun:event 5203: 7278 Ctrk{N= 4 Sump= 44.4) Ecal{N= 10 SuzE= 17.9
Ebeem £5.800 Vix { —.01, .06, .01) Heel(N= 4 Suws= 15.9) Muoon(N= 0}

Run:event 5207: 57055 Ctrk{N= 25 Sump= 53.7) Ecal(N= 45 SumE= 56.1
Bbeam 45.805 Vix { —.02, .04, .65) Heel(N=18 Sumi= 24.8) MucniN= L

i)

12 SDEY

12 DHE
Gt smemis¢ (i, B, 00 }—{ mm et 00 BIF, 0 ey A

Bun:event 5207: 57468
Ebeam 456805 Vix { —

Fun:event 5207: 57270  Ctrk{N= 55 Sump= 58.3) Ecal(N= 41 Sm= 50.2
Ebeam 456806 Vix { —.02. .06, .39) Heal(N=18 SuxB= 13.9) Huon(N= 0}

12 BB
Crtrecf sremis (000 193, 00 I—( T Gitre of soremis ¢
Fun:event 9300: 9093 cﬁquzu Sup= §7.0) Ecal(N= 30 SWE= 49.0 Fun:event 5287: 56080  Ctrk{N= 22 Sump= 41.4) Ecal(N= 35 Sumk= 88.4
Ebean 45.505 Vir (-0.02, 0.05,-1.25) Heal(N=14 Suf= 13.3} Muon(N= 1} ll Ebeem £5.800 Yix { — 00, .02, 1.88) Heal(N= 7 pumE= 3.4) Muon(n= 1} i

4+

12 e

Gertre cFsoemis (0,000, 1905, 00005 }—| m

12

ELLEE

Fun:event 5207: 58884  Cirk{N= 22 Sump= 57.2) Ecal(N= 43 Swmf= 42.0

Eun:event 5207: 58183  Ctrk{N= 64 Sump= 88.6) Ecal(N= 84 Sunf= 40.
Ebesm 45.808 Vix { 09, .08, 1.18) Hesl{N= & FumE= 2¢.0) Muen(N= 1)

Ebean 45.805 Vtx { —.05, .04, 2.20) Heel(Ns14 SunE= 16.2) Muon{N= 0

12 B0 12 CTe
e el 0 B, 00 g it cF s €000 192, 0000 ey B
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Run:event 5207: 58128

Ebesm 45,805 Vix { —.01, .04,

Ctrk{N= 84 Sump= 47.0) Ecal(N= 48 Sumf= 57.1

Fun:event 5297: 60471

.99) Heel(N=14 = 24.9) K\lon1_N= c))l dPl‘
1“’

Ebeam #5805 Yix { —.68, —.02, 1.61) Heal(N=11 Sus= 4.5) Huon(N= 0}

+ o+

Grreof semis{ (000 1, 000

10 BB
}—{T\T\

Run:event 5207: 60811

Ctrk{N= 37 Sump= 46.3) Ecal(N= 51 SucE= 47.5)
Eheam 45.806 Vix { -.02,

S84, 1.80) Hosl(N=11 Swi= 1#.2) Musn(N= 1))| dP

12 SmG
Catreccf ayemis (00 193, 00 }—{ nnisnm!

Ctrk{N= 33 Sump= 42.3) Ecal(N= 42 SumE= 55.0)

Eun:event 5207: 81124
Bbeam +5.605 Vix | —.08

Ctrk{N= 14 Sump= 68.7) Ecal(N= 28 SurE= 43.3

.08, .89) Heal(N=12 SumE= 11.0) Muon(N= 1))| dPl‘

12 GEE
S B e

Pun:event 5203: 19418

Ctrk(N= 2 Sum= 91.3) Ecal(N= 5 Sumi= 04.5
Ebeam 45.800 Vix {~0.03, 0.04, 0.68) Heal(N= 0 SumE= 0.0} Muon(N=

=0}

@

12 CEmE
Gatre o sremis ¢ 0,000, 18, 00000 }—{ Mo

| Run:event 5305:

12 GDEY
Cotre of sremis (000 19062, 00 }—1 m T

2508

Ctrk(N= % &

Run:event 5207: 61649

Gertre of sremis {00000, 192687, 00000}

= 48.2} Ecal(N= 56 Sunk= §7.4
Ebean 45.505 Vix (-0.01, 0.04, ¢.63) Hral{N= & Swmd= 4.2} Huon(N= 1) l‘

12 BWE
}—|‘H‘v—|

Ctrk{N= 22 Sump= 78.3) Ecal{N= 34 SumE= 54
Bhean 45,805 Vix { -.08, .

06, 1.16) Hesl(N=18 fusB= 9.9) Muon(N=

Run:event 5283:

3287

Ebeem 45.800 Vix { -.03,

Ctrk{N= 2 Sump= 80.0) Ecal(N= 7 SumB= 1.7,
.04, .48) Heel(N= 4 SmE= 4.2} Muon(N=

= 2) |§

Gatre of sremis

a0, o 12 9B
A

000, 198, 0000

12

Gatreck spemis {000 BH, 000

http://www.physicsmasterclasses.org
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